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Extending the Fives Strategy

1. Write the answer to the tens number fact.
Then colour half the picture and complete the fives fact.
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2. Write the tens fact you could use to help work.out the.fives fact.
Then write the answer.

Use the same strategy to solve these: :
126 @ 56x5= b 73x5= GO Maths Stage 2A Unit 27.1



Introducing the Doubling-and-Halving Stra NS 2.3
e

1. The first rectangle was cut in half and rearranged to form the second rectangle.

14 7/

Has the total number
of squares changed?

~
Write the dimensions of each rectang
X =
is the same as
X =
J

2. Double one numb

is t oty is the same as is the same as
X = X = X =
\ o L J
 d. ™ ™ ™
is the same as is the same as is the same as
X = X = X =
\ 2N 2N J
. W h. ~ @D
is the same as is the same as is the same as
X = X = X =
\ 2N 2N J

60 Maths Stage 2A Unit 27.2 @ Write two other number sentences you could solve using the strategy. 127



Using Place Value to Multiply

For each of these

e read the dimensions and then draw a matching rectangle
e colour the tens part red and the ones part blue

e write the answer to each part and then write the total

( a. ] )
/ 3 by 26 ‘ Total
3 x =
S > x(_’ J

4 by 23 Total
y 4 e
4 x =
N i 4x - y,
. ) . wn - DY
/ 6 by 17 ‘ Total
6 x =
NS - 0 x B )
(d. ) . DY
/ 8 by 24 ‘ Total
8 x =
N 8% - y,
(&) R
/ 7 by 23 ‘ Total
7 x =
N 7 - y,

Choose an example from above. Write two different :
1 28 ways you could work out the answer in your head. 60 Maths, Stage 28 lInit 27.5



Using Place Value to Multiply

CRoC I{E

VENT(JRE PARI{
72

Three-Dag Passes

1. Colculote the cost of buying 3 of each of these.

DREAM LAND § .4

OUTCOME
NS 2.3

OCEAN Woprp
$63

X

Total R m Toto% G Total R
CROC KE
;27

3 x = 3 x { ' 3 x =

3 x = 3 3 % =
S AN h DN J

2. Calculate the cost of buying 6 of each ofithese.
Total R G Total R
$ $

6 x =

6 X =
AN )

3. Calculate the cost of buying 4 of each of these.
m Total R Total R a Total R
VENTORE PARE )| § CROC KE, $ $
_ S 4ZETE'R — ||| DREAMLAND g4 || *——
X = X = X =
X = X = X =

S AN AN J
S Imagine you bought 5 Venture Park passes. 1 29

Write about a strategy you could use to work out the total cost.



Extending the Build-Up and Build-Down Strategies

1. Look in the thought bubble. Write the answer.
Then use the thought bubble to help you write the other two answers.

2. Complete each of these.

20 x 4 = 60 x 3 =

1 30 @ Write how you could work out 119 x 3 in your head.
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